COP 3223 Section 3

Final Exam

Form A – Multiple Choice

Spring 2010 

4/27/10

Lecturer: Arup Guha

Directions: This portion of the exam is closed book. Answer all multiple choice questions on the scantron. Each question has a single correct answer. In case of ambiguities, choose the most accurate answer. Each of these questions is worth 2 points for a correct answer. Incorrect answers and questions left blank are worth 0 points. There are a total of 60 possible points to earn on this section. You will have 75 minutes to finish this section. When you finish this section, double check that you have bubbled in your PID and Exam Version on the scantron and then hand in the scantron ONLY. Then you will receive the Free Response portion of the exam, which is out of 40 points. You may start on that section immediately, but may not use your textbook until all students have turned in their scantron.

1) Which of the following is NOT a reserved word in C?

A)if

B)then

C)for

D)do

E)None of the Above

2) Which of the following is NOT a valid variable name in C?

A)house

B)number1

C)1number

D)this_house

E)None of the Above

3) What is the percent code for an integer in c?

A)%c

B)%d

C)%f

D)%lf

E)None of the Above

4) What is the value of the following expression?

(6 + 9%47)/2

A)6

B)6.5

C)7

D)7.5

E)None of the Above

5) What is the output of the following code segment?

int a=11, b=5, c=7;

a = (3*a + b)%c;

b = (16 - a)/5;

c = (a + b + c)*2;

printf("a=%d, b=%d, c=%d\n", a, b, c);

A)a=1, b=3, c=22

B)a=3, b=3, c=24

C)a=3, b=3, c=26

D)a=5, b=2, c=28

E)None of the Above

6) What is the value of the following expression?

(17/5)*5.0

A)15.0

B)17.0

C)18.0

D)20.0

E)None of the Above

7) What is value of the following expression?

sqrt(pow(2, 10))

A)16.0

B)32.0

C)64.0

D)512.0

E)None of the Above

8) What is the output of the following code segment?

int a=8, b=7;

if (a < b)

  printf("A");

else if (a > b)

  printf("B");

else

  printf("C");

printf("D");

A)A

B)AD

C)B

D)BD

E)None of the Above

9) What is the output of the following code segment?

int a=5, b=4;

if (a > b)

  if (b < a)

    printf("A");

else

  printf("B");

printf("C");

A)A

B)B

C)AB

D)ABC

E)None of the Above

10) What is the output of the following code segment?

int a=3, b=4;

if (b = 2*a)

  printf("%d %d", a, b);

else

  printf("%d %d", b, a);

A)3 4

B)3 6

C)6 3

D)4 6

E)None of the Above

11) What is the output of the following code segment?

int i, a=0;

for (i=3; i<6; i++) 

  a = 2*a + i;

printf("a = %d\n", a);

A)a = 10

B)a = 25

C)a = 56

D)a = 57

E)None of the Above

12) What is the output of the following code segment?

int x = 120, y=1;

while (y < x) {

  if (x%y != 0)

    break;

  y++;

}

printf("%d", y);

A)4

B)5

C)6

D)7

E)None of the Above

13) What is the output of the following code segment?

int i,j,s=0;

for (i=2; i<=7; i++)

  for (j=3; j<12; j++)

    s++;

printf("%d", s);

A)45

B)50

C)54

D)60

E)None of the Above

14) What is the output of the following code segment?

int a=0,b=0;

while (a<15)

  a++;

  b = b + a;

printf("a=%d, b=%d\n",a,b);

A)a=14, b=14

B)a=14, b=105

C)a=15, b=15

D)a=15, b=120

E)None of the Above

15) What is the purpose of the function below? (Note: n is the length of a.)

int f(int a[], int n) {

  int i;

  for (i=0; i<n-1; i++)

    if (a[i] > a[i+1])

      return 0;

  return 1;

}

A)To add all the values in the array a.

B)To return the maximum value in a.

C)To return the minimum value in a.

D)To return the index where the maximum value in a is stored.

E)None of the Above

16) Which of the following types when listed in a function

prototype, is equivalent to an integer array?

A)int*
B)double

C)double*

D)long[][]

E)None of the Above

17) What is the purpose of the function below? (Note: n is the length of a.)

int f(int a[], int n) {

  int i, s = a[0];

  for (i=1; i<n; i++)

    if (a[i] < s)

      s = a[i];

  return s;

}

A)To add all the values in the array a.

B)To check to see if a is sorted from smallest to largest.

C)To return the maximum value in a.

D)To return the minimum value in a.

E)None of the Above

18) Which of the following could be described best as 5 arrays with

9 elements each?

A)int grid[9][5];

B)int grid[5][9];

C)int grid[6][10];

D)int grid[5][5];

E)None of the Above

19) What is the return value of f(7)? f is below:

int f(int n) {

  int i, s=1;

  for (i=1; i<=n; i++)

    s = s*2;

  return s;

}

A)14

B)128

C)256

D)512

E)None of the Above

20) Given the following function prototypes and variable declarations,

which of the following is a syntactically correct function call which

won't produce any warnings when compiled?

int func1(int a, int* b);

int func2(int* a);

void func3(int* a, int* b);

int func4(int a, int b);

void func5(int *a, int *b, int c);

int a = 3, b = 8;

int* p = &b;

A)a = func1(p, &a);

B)p = func2(a);

C)func3(&b, p);

D)func5(p, a, *p+4);

E)None of the Above

21) What is the fewest number of return values a function can have?

A)0

B)1

C)2

D)4

E)None of the Above

22) What is the output of the following program?

#include <stdio.h>

void f(int a);

int main() {

  int x = 8;

  f(x);

  printf("%d\n", x);

  return 0;

}

void f(int a) {

  a++;

  printf("%d ", a);

}

A)8 8

B)9 8

C)9 9

D)9 10
E)None of the Above

23) Which of the following functions can be used to determine

which of two uppercase names comes first alphabetically?

A)strlen
B)strcpy
C)strcmp
D)strstr
E)None of the Above

24) Which string function is being implemented below?

void f(char a[], char b[]) {

  int i;

  for (i=0; i<=strlen(b); i++)

    a[i] = b[i];

}

A)strlen

B)strcpy

C)strcmp

D)strstr

E)None of the Above

25) Which of the following is a possible return value for strcmp("j","p")?

A)0

B)1

C)6

D)26

E)None of the Above

26) What is the output of the following segment of code?

char a[20] = "chips";

char b[] = "ahoy!";

strcat(a,b);

printf("%s", a);

A)chips
B)ahoy!
C)chipsahoy!
D)ahoy!chips  E)None of the Above

27) Which operator is used to access a component of a struct,

through a pointer to a struct variable?

A).

B)+

C)->

D)<

E)None of the Above

28) Given the following struct definitions, which of the following

expressions is of type int?

struct point {

  int x;

  int y;

};

struct polygon {

  struct point allPts[100];

  int numSides;

};

struct shapes {

  struct polygon myshapes[50];

};

struct shapes s;

A)s->myshapes[0]->allPts[0]->x

B)s.myshapes[0].allPts[0].x

C)shapes.myshapes.allPts.x

D)shapes->myshapes[0].allPts[0].x

E)None of the Above

29) Given the struct definition and variable declarations below,

which of the following is a valid scanf statement?

struct name {

  char first[20];

  char last[20];

};

struct name bob;

A)scanf("%s", name.last);

B)scanf("%s", name.first);

C)scanf("%s", name.bob);

D)scanf("%s", bob.first);

E)None of the Above
30) What is the main type of food served at NYPD Pizza?

A) Pizza 
B) Thai 
C) Donuts
D) Cops 
E) None of the Above
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1) (10 pts) Write a complete program, using good style, that prompts the user to enter the cost of an item and the percent discount it is on, and prints out the discounted cost of the item rounded to the nearest cent. For the purposes of this problem, there is no tax involved. (For example, if the user entered 10.00 for the cost and 67 for the percentage discount, then your program should display $3.30 as the discounted cost.)

2) (10 pts) Write a program that prints out the sum of all the positive integers less than 10000 that are multiples of 3 or 5.
3) (10 pts) In the card game Bridge, we can approximate the score of a hand by adding four points for each Ace, three points for each King, two points for each Queen and one point for each Jack. Imagine a struct that stores a single playing card with two char variables, one to store the suit (‘C’, ‘D’, ‘H’, or ‘S’) and one to store the kind (‘A’, ‘2’, ‘3’, ‘4’, ‘5’, ‘6’, ‘7’, ‘8’, ‘9’, ‘T’, ‘J’, ‘Q’, or ‘K’). Write a function that takes in an array of this struct and the length of the array, and returns the Bridge score (according to the definition given here) of that collection of cards. The struct definition is given below.

struct card {

  char suit;

  char kind;

};

int bridge_score(struct card my_hand[], int length) {

}

4) (10 pts) Please show me your past tests as you come to turn in this portion of the exam. Points are allotted as follows:

Multiple Choice Questions from Exam 1 (3 pts)

Multiple Choice Answers from Test Services Exam 1 (2 pts)

Free Response Exam 1 (2 pts)

Exam 2 (3 pts)
